1.. Given the square pyramid below:

Area of the base = 256 un?.
Length of a lateral edge = 17 un.

a.. Find the lateral surface area.
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b.. Find the volume.
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2.. Given the regular hexagonal prism below, find:

a.. total surface area.
12
.

The L\exajah a{.‘./.dtc,; w\‘f‘o 6 ’f'lf'lf\vﬁ’c.l;
all ezhl'l*‘l'c\'ﬂ-L

Ao s Y BR = YolloS1B)= 255
Total area 15 5003

Top ¥ Bittom add to 200 (I3 ow)
C sides ave €otc,L IQ.OJ 220 sides

| 10— | 710+300U§ Sq Un. total

b.. volume. V","’\W\C 15 bq:e, Tives L\C‘jlﬂt-
1503 « 1. = 1§00(3 un®

3.. If the lateral surface area of the cylinder below is 80 un?, find the volume of the cylinder.

' - h ow = 1'“""0
i el e G et

Voluwe 2 Base “Haght
Vi L’:". 10 = I€O")T Wh
h=10

----------
-




0\) Va,u\w\e.

g lChj'l"\'\ w’s’o{tL\-L\efjl"t
]3'@ Lf - 3'1(”\3

L) t.t surface area - +heve ave S1X :naie.r,
2-6-4= 4
1.6-13% |56

g-4-13=10%
308 W

T Aot care that tle cyl.'n..-jcv- e
10 14 ngl\! LC"{( ASShnme 117 '+y1..

#5

5.5
Tl\c w’l\o'(, Va,v\mg ' 5 B-H

722 (45) = 187w aud +he
/lzul/’ (K1 I/‘L 0( ’H»n..r.

97 n’

—




"6

oy,

~ind the volume of the frustum. #frustum ﬂ
’ n= 10 s
€ rn,=14
s=16

(Afc weed +he |»\e.|jl«'(,- of +he ,MISJI\«J’ cohe, as well as

‘H\( "I'o't'a' L\eljl\-t;
we lave ![\M\,ar -vat\j'e.f >

hel \*
lo hyp % - 162% Y4 = 160+ l0x
| i base. |O 4 muwlt Lf«‘:: léo
h 16 (S) ‘{0
X =
L L,Z:W= ig(n/s
s hry = [T - Ve = 14075
Big come vol = 3T 4 ITE < Vs 274U
Yo qr 10905

'/5 1T IO?' 10 UTS =

Swa“ C owne Va\ =



*7 Eaet+ a4|ame'tcf 79177.5 m.

9 Velwne = Yowe® = Y (ZULE)

= 259,874,004 352 mules”
Vs> 129,937,002 176 wiles”

129937 x 10" miles®

ov

2917.5\%
b) Avea ° L]"'T"% < Lf"“'( ‘Z )
= 19¢, 13C, 410 ks

fy = 98 466 205 wmiles
or LIHCEL x o’

8.. If all dimensions of the regular hexagonal prism from problem number 2 were tripled, fing: "

a.. total surface area. . b..volume.
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10.. Given the triangular prism, find:

a.. lateral surface area. 20
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